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SECTION—A | W M—A
GENERAL KNOWLEDGE AND LOGICAL KNOWLEDGE
G §H Ud difches I

Direction (Q. Nos. 1 and 2) : Each question
given below is based on the following data :

(1) A studies ;Physics, Chemistry and
English. ‘

(2) B and C study Chemistry and
Mathematics. ‘

(3) D and A study Biology and Home
Science.

1. Which student studies the maximum
number of subjects?

Ay D
® A
€ C
(D) B
2. How many students are studying
Chemistry?
A) 1
(B) 2
€ 3
(D) 0
Direction (Q. Nos. 3 to 5) : Read the

following informations and answer the
questions :

(1) Six friends A, B, C, D, E and F are
sitting in a closed circle facing the
centre,

(2) E is to the left of D.
(8) Cis between A and B.
(4) F is between E and A.

3. Who is to the left of C?
A) A '
(B) E
(C) D
(D) B

13-PARSK/2-A

(v "o 1 3R 2) : = Ry @ T
ﬁﬁ%@ﬁmﬂmﬁﬁ%: .
(1) A sifeehl, wE-wr aun 3OSl ggar B
(2) B3R C W@EA-IE q¥1 T Yed B
(3) D 3 A sha-fagm au1 R-fem v
2
1. - foeneff srftreran forww ugar 27
(A) D
B) A
€ c
(D) B
2. foraa foremeff w-wme e €7
A) 1
B) 2
€ 3
(D) O
fAdw (w93 do 3 @ 5) : Frafiflea gamel =i g
ﬁqmnﬁﬁsmaﬁq
(1) 3AFW A, B, C, D, EAM F @& &
g # Fezifngg 43 g
(2) E, D% </t o 2|
(3) C, AT BFuA R
(4) F,ET A% A Rl

3. C% widl 3 B9 21 87
@A) A
(B) E
(©) D
(D) B

[P.T.O.



https://applink.adda247.com/d/XhqWf9lSap

ﬁdda 2y[7

GET IT ON
Google Play

4. E is sitting between 4. E 5% mey 337 87

(A) Dand F (A) DI F
(C) Cand D (C) Ca= D
(D) A and B (D) AT B
5. Who is sitting right to A? . A% T 3T B a1 R7
(A) D {A) D
B) F
(B) F
©) E
(C) E
(D) C
(D) C
. W IE & f @ Fm Q@ frewwt & wy QR
6. In this question, two statements are ™ {1 YR FUE B W AW g, AR

followed by two conclusions. You have
to consider the two given statements as
true even if they seem to be absurd and
select your answer,

Statements :

I.  All managers are clerks.
II. Some clerks are peon.

Conclusions :

(1) No manager is peon.

{2) Some peons are managers.

{A) Only conclusion (1) follows
(B) Only conclusion (2) follows

(C) Neither conclusion (1) nor conclu-
sion (2} follows

(D) Both of the conclusions (1) and (2)
follow

13-PARSK/2-A
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7. Seen through a mirror, the arms of a 7. & T § I | 9d A ggai 2:30 ik
clock show 2:30. The actual time is &, at arafas aug ?
(A) 6:30 | (A) 6:30
(B) 3:30 (B) 3:30
(C) 9:30 (€) 9:30
(D) 6:10 (D) 6:10

8. Statements :

8. &Y .

1. The prices of vegetables have fallen

during the last few days. I frm 33 femit o ofssert & wma & fiwae
II. There has been considerable Tt R

improvement in  quality of

vegetables produced. . Iafa afsmt f quem § wTH gur

3T 31
Choose the correct answer.
T IW BIeA |

(A) Statement I is the cause and
statement II is the effect
(A) o I HRW 3 wYA 1 9 B
(B) Statement II is the cause and
statement I is the effect (B) F¥A I & 2 i TR 1 e

(C) Both the statements I and II are (C) & I 3 Fo 11 IF Tax HROT 8
independent causes

| D) % 1 3 F 11 T @ad FROT F
1 (D) Both the statements I and II are (D)

(A)

effects of independent causes e R
9. Which of the following represents 9. frafafea # & +A-w ‘der, wrew @ IAwT
‘stone, plant and fire”? %t yefdia *ar 87
(A) © O O O

O O
o (Do JOOL
© @
@ D

13-PARSK/2-A 5 ‘ [ P.T.O.
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Direction (Q. Nos. 10 to 12) : Study the
diagram carefully and answer the questions :

a village
7 {5\ ¢4 g
6 O ~—» Unemployed
2
O —> Educated
10. Which of the following numbers
represents unemployed educated

11.

12.

A\ —> Youths in

youths in the village?

A} 4

B) 5

{C} 6

D) 7

Uneducated unemployed youths in the
village are represented by

A) 4

B) 1

) 7

D) 2

Which of the following numbers
represents the educated employed
youths in the village?

@A) 3

(B) 4

© 1

(D) 7

13-PARSK/2-A
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fdw (wwrdo 10 | 12) : o B TAFES e W

sr‘ﬁﬁéamaﬁrq
1
A —> Tadga
4
P 0O — 3w
3 Y
O — fnfém

10. fr=fafea & & ®@-w1 o Ma § Rifda

11.

12,

Fee ganeit it wekia wer 37

B) 4

B) 5

©) 6

(D) 7

e § i SUSmR garedt =t gwit amen
3® 3

(a) 4

B) 1

© 7

(D) 2

frafifee & @ FF-w oiw nfd § ffdm
e ganett = swiar 27

@) 3

(B) 4

©) 1

D) 7
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13. Centigrade and Fahrenheit scales give
same reading at

(A) 0°
(B) -48°
(C) 40°

(D) None of the above

14. Kathakali dance belongs to which one of
the following States?

{A) Maharashtra
(B) Kerala
(C) Tamil Nadu

(D} Gujarat

15. The highest mountain pegk of India is
(A} Mount Everest
(B) K-2
(C) Kanchenjunga
(D) None of the above
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13. e W wAEE duR f ww-dar HH
weidfa gm ‘

(A) 0° W
(B) -48° W
(C) 40° W
(D) mﬁﬁaﬁiﬂﬁ
14. Ut g Frafafgs & @ o w9 @
Trafa 37
(A) wERTY
(B) ¥
(C) dfirerrg |

(D) TSR

15. WRd $ ged St vda = 2
(A) HR® TR
(B) Fo-2
(C) e
(D) 3 & ¥ H
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16.

17.

18.

19,

Which of the following States is in the
south of Madhya Pradesh?

(A) Rajasthan
(B) Gujarat
(C) Chhattisgarh

(D) Maharashtra

Which of the following rivers originates
from Madhya Pradesh and flows
through Madhya Pradesh, Maharashtra
and Gujarat?

(A) Narmada

(B) Chambal

(C} Betwa

(D} Ken

State animal of Madhya Pradesh is

(A) Cow

(B) Swamp deer

(C) Tiger

(D) Lion

The zonal office of West Central Railway '
is situated at

(A) Indore

{(B) Bhopal

(C) Jabalpur

(D} Gwalior

13-PARSK/2-A
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(A) TSEH
(B) TSR
(€) oriwTE

(D) TEWg

BA-H T} N A Ry, JERy 9 TNE ¥
B Faelt 87

(A) e
(B) W
(C) Saar
(D) #

A) T
(B) seRem
(C) =™
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20. In Madhya Pradesh, the Fossil National 20. A TN W Wi WS T R
Park is situated in which of the ra e o Ra 27
following districts?

. (a) feerdt

(A) Dindori
(B) Ratlam | . (B) WA
(C) Uijain (C) =
(D) Bhopal (D) I

21. The number of Parliamentary Constitu- 21. TeT Wy A 0 | H et @F 8
encies in Madhya Pradesh is
@) 27 (A) 27
(B) 28 (B) 28
(C) 29 € 29
(D) 30 (D) 30

22. Who among the following kings built the 22, i U FH A e et 3 s a?
Sanchi Stupa? '

(A) T ST
(A) Raja Bhoj
(B) Ashoka the Great @) e
(C) Chandragupta Maurya (C) = B
(D) None of them . (D) T A %3 T
13-PARSK/2-A ‘ 9 ‘ [ P.T.O.
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23.

24,

25.

How many sites in Madhya Pradesh
are declared ‘World Heritage Site’ by
UNESCO?

(A) 3
By 4
(C) 5

(D) None of the above

Which of the following dams is
constructed on Son river?

(A) Mahi
(B) Pratap Sagar
(C} Kolar

(D} Ben Sagar

Who was the Chief Minister of Madhya
Pradesh at the time of Bhopal Gas
Tragedy?

(A) Digvijay Singh
(B) Uma Bharti
(€)

Arjun Singh

(D) Shiv Raj Singh

13-PARSK/2-A
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26. Who raised the slogan, “Freedom is my
birthright and I shall have it”™?

(A) Bal Gangadhar Tilak -
(B) Mahatma Gandhi
(C) Lala Lajpat Rai

(D) Subhas Chandra Bose

27. “Life is full Tof “sufferings
unhappiness.” Who said this?

and

(A) Bhagawan Buddha
(B} Bhagawan Mahavira
(C) Ashoka the Great

(D) Mahatma Gandhi

28. The first woman Chief Minister of a
State in India was '

(A) Mayavati
(B) Sucheta Kripalani
(C) Jayalalitha

‘(D) None of them

29. When was Swami Vivekananda born?
' {A) 12 January, 1864
(B) 12 January, 1‘893
(C}) 12 January, 187“:‘3‘

(D} 12 January, 1863

13-PARSK/2-A 11

26. ‘‘wausd A0 sRE Fftew ¥ 3l # @ ww

| g A R Rt
Y N

(B) e it

(C) wren AU TF

(D) TN T |-

27. ‘e %ot ol g @ wa R qE FoE R
(A) WEH g& H
(B) T TR
(C) i qEM I

(D) weTeHT TiteR @

28. vRa # frelt Tew Y wom e gem=h o
(A) wmTEd
(B) Faa FerA
(C) w=ferar
() v A w7

29. @it fa@ewm= w1 9 wa gan?
(a) 12 SF=d, 1864
(B) 12 s=adl, 1893
(©) 12 s=ad, >1873

(D) 12 ==, 1863

[P.T.O.
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30. In India, where was the first Metro Rail
started?

(A) Kolkata

(B) Mumbai

{C} New Delhi

(D) None of the above

31. Who was known as the

Mysore’?

‘Tiger of

(A) Haider Ali

(B) Akbar

(C) Tipu Sultan

(D) None of them

32. Who was the founder of Arya Samaj?
(A) Vivekananda

{B) Swami Dayananda Saraswati

(C) Lala Lajpat Rai

(D) Bepin Chandra Pal

13-PARSK/2-A
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31.

32.

(A) FreTshTaT

B) T=g

) =g
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33. If PxQ means P is brother of Q, P+Q
means P is son of Q and P - Q means P
is sister of Q, then which of the following
relations will show that Q is maternal
uncle of P?

{A) PxR+Q

(B) P+R-Q

(C) R-P+Q

(D) QxR+P

34. Pointing to a woman a man says, “Her
mother’s mother is the mother of my
father”. How is the man related to that

woman?
(A) Nephew
(B) Son

(C} Maternal cousin

(D) Uncle

Which of the following diagrams depicts
the relationship among cats, pet
animals and dogs? :

® () o

o O
O

35.

(D)

13-PARSK/2-A
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33. R PxQ w A R f P, Q &1 uig 3,
P+OF ad R 6 P, Q ®1 W@ } AW
P-owmad 2 f5 p, 0 afm }, @
ffiRea § ¥ A9-|1 W= 98 A =W &
5 Q, P w1 AW ??

(A) PxR+Q

‘B) P+R-0Q

(C) R-P+Q

(D) QxR+P

34. T wieen H 3 FQ@ gL TH Tov Fear & 6

“IEehl mrar K " W f e ¥, @
JH IR &1 Al & @Y R

W

- (B) T

(C) W W1g

(D) ==

35. Prafefaa # @ A-w Ra RRgE, Tem
. A0 § Tl % T WY Sl g 87

"@®o
O O

(D) 0o

[ P.T.O.
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36. Study the given statement and select
the alternative which best represents
the statement :

“Ravi is illiterate,
cannot write.”

therefore he

Thus we can say that

{A) only some of the literate persons
can write

(B) all illiterate persons cannot write

{C) some literate persons also cannot
write

(D) None of the above

Direction (Q. Nos. 37 and 38) : In each
question given below, a statement is followed

by two arguments numbered I and II. You

have to decide which of the arguments is a
‘strong’ argument and which is a ‘weak’
argument and then select the correct
alternative.

37. Statement :
Should political parties be banned?
Arguments :
I.  Yes, it is necessary to teach a
lesson to the politicians.

. No, it will lead to an end of the
democracy. -

(A} Only argument I is',strong

(B) Only argument II is strong

(C) Either argument I or argument Il is

strong

(D) Neither argument I nor argument Il

is strong

13-PARSK/2-A
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38. Statement :

Should India have no military force
at all?

Arguments :

1.  No, other countries in the world
do not believe in non-violence.

II. Yes, many Indians believe in
non-violence,
(A) Only argument I is strong

(B) Only argument II is strong

(C) Either argument I or argument Il is

strong

(D} Neither argument I nor argument II

is strong

39. Replace the question mark (?) with

correct word :

Farmer : Plough :: Author : ?
(A) Writing
(B} Brush
(C) Book

(D) Pen

Statements :

I.  Water boils at 100 °C.
II. Water freezes into ice at 0 °C,

Conclusion :

Water boils at low pressure and low
temperature.

The conclusion drawn is
(A) true

(B) false

(C) either true or false
(D) irrelevant

13-PARSK/2-A 15
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SECTION—B / sm—8
MENTAL ABILITY AND MENTAL APTITUDE

41. One morning Ram and Shyam were
talking to each other face to face at a

crossing. If Shyam’s shadow was
exactly to the left of Ram, then which
direction was Ram facing?

(A} East
(B) West
(C) North

(D) South

Some boys are standing in a circle
facing to the centre. Bhim is to the
immediate left of Vijay. Rajesh is in
between Bhim and Mahesh. Jivan is in
between Vijay and Naren. Who is to the
left of Mahesh?

{A} Rajesh
(B) Naren
(C) Vijay

(D) Bhim

13-PARSK/2-A
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@) o
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€) s

(D) &f¥or
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43. What will replace ?’ in the following? _ 43. B & 27 6t S T IEM?
Moon : Satellite :: Earth : ? S - e g ;7
(A) Sun \ ' @A) o
(B) Planet | - B) T
(C) Solar system ©) Browed
(D) Star D)

44, What will replace ‘?’ in the following ?
" 44, = & o f g w7 MY

TR ¢ qE @R ?

Ocean : Water :: Glacier : ?

(A) Refrigerator

A) W
(B) Ice

(B) ¥H
(C) Mountain

(C) w=e
(D) Cave

(D) T®

45, If A=x, E=—-, O=+ and U=+, then
taking the numerical value of the
remaining letters as per English
alphabet order, the correct option

45. IR A=x, E=-, O=+ @ U=+ &, @
A el w1 Sich quimengEeR deme

for SETUH is WH ¥ | SETUH #1 §& frea 3
@A) s A) 5
(B) 6 (B) 6
c 7 © 7
D) 8 (D) 8

13-PARSK/2-A 21 ’ [ P.T.O.
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46. Find out the wrong term from the
following :
5, 9, 17, 35, 65, 129
(A) 65
(B) 35

(C) 129

(D) 9

47. Find the missing number of the given
series :
19, 2, 38, 3, 114, 4, 2
(A) 228
(B) 256
(C) 352
(D) 456
48. Find the next number in the following :
1, 2,9, 4, 25,6, 2 .
(A) 51
(B) 49

(C) 50

(D) 47

.13-PARSK/2-A 22
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46. 7= # @ @ @ I AR ;-

5,9, 17, 35, 65, 120
(A) 65 |
B 35
(©) 129
D) 9

47. fie Aof  qu s 7w AT ;

19, 2, 38, 3, 114, 4, 2

(A) 228
(B) 256
(©) 352
(D) 456
48. fo & selt Wen g AR ;-
1,2,9, 4,256, 2

(A) 51

(B) 49

(C) 50

(D) 47
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49. Find the missing number of the:given 49. = vt i gu g T AT
series : ' :
1, 8, 9, 64, 25, 216, 49, ?_
1, 8, 9, 64, 25, 216, 49, ?_ ' ‘
' (A) 64
(A) 64
B) 729
(B) 729
C) 512
(C) 512 ©
D) 81 (D) 81
50. What will come next in the given series? 50. B Joft & svrer w2 F AM?
21, 62, 23, 60, 25, 58, 2_ 21, 62, 23, 60, 25, 58, 2
(A) 29 (A) 29
(B) 56 ’ (B) 56
(€ 27 , (C) 27
(D) 60 . (D) 60
51. Find .out the wrong term erm the 51. fi= & § T 92 T IR ;
following : ‘ - ;
ABC, DGJ, HMR, NTA, SBK, ZKV AEC..DG.LHMR, NIA/ SBI, ZKV
(B) HMR (B) HMR
(C) NTA ' (C) NTA
(D) SBK ; (D) SBK

13-PARSK/2-A 23 [P.T.O.
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52. Find the missing letters in the 52. f= & qu stererE 3 i
following :

: BCFH, _? , HILN, KLOQ, NORT
BCFH, _? , HILN, KLOQ, NORT

A MNOS () MNQS
B EFIK (B) EFIK
©) NOPQ (C) NOPQ
D) POTV (D) PQTV

53. = & gv = 3@ v .

F3X, H7U, J15R, L310O, _?

53. Find the missing term in the following :

F3X, H7U, J15R, L310, _?

(A) M46L (A) M46L

(B) N44L ' (B) N44L
(C) N63L (C) N63L ;

(D) N44M (D) N44M
54. Complete the given letter series : 54. < T e Avht B G I ;
J__HL__K_ IH__LKJ _ LIK J_HL__K_ TH__LKJ _ LIK

(A) HILJL (A) HILJL

(B) ILJLH ' (B) ILJLH

(C) LJLHI (C) LJLHI

(D) JLHIL (D) JLHIL

13-PARSK/2-A 24
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55.

56.

57.

13-PARSK/2-A

\

In the following letter series, some of
the letters are missing which are given
in that order as one of the alternatives
below it. Choose the correct alternative :

a__ca__bcaab _a__.bcaabc __ab
(A) bacaa
(B) aacBa
{C) bcacc

(D) cabba

In a certain code language if MICHAEL
is coded as JGBHBGO, then in this
code, AMERICA will be written as

(A) XKDRJED
(B) XKDRKED
(C) XKDRJEC

(D) XKERJED

In a certain code language if CRICKET
is coded as 3923564, ROCKET is coded
as 913564 and KETTLE is coded as
564406, then how is LITTLE coded in
that language?

(A) 204406
(B) 024406
(C) 020446

(D) 200446
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55. fiefifan ser S0 § 7o we gy § A
It wm A Aof & i fordt u forere & ww B
e mn 21w faen g

a__ca__bcaab__a__ bcaabc ___ ab
(A) bacaa
(B) aacba
(C) bcacc

(D) cabba

56. af feft fafie e w1 | MICHAEL #
JGBHBGO fo@r siman 2, at geft g2 9 &

AMERICA %! foman smam

(A) XKDRJED

(B) XKDRKED

(C) XKDRJEC

(D) XKERJED

57. w& fafire §¢ w1 # 3R CRICKET #
3923564, ROCKET # 913564 I
KETTLE # 564406 for@n wmar 8, @

LITTLE %! 39 %2 W & N foren smrm?
(A) 204406
(B) 024406
(C) 020446
(D) 200446
[P.T.O.
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58.

59.

If 74683 means GREAT, then 7684
means

(A) GEAR

(B) HEAR

(C) REAG

(D) GAER

How many squares are there in the
following figure?

(A) 13

B) 14

(©) 16

(D) 15

13-PARSK/2-A
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58. aft 74683 1 A1 GREAT &, @ 7684 &1

a3

(A)

(B)

{€)

(D)

59. = g 9 foraa ot &7

(A)

(B)

(€)

(D)

GEAR

HEAR

REAG

GAER

13

14

16

15
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60.

61.

62.

How many triangles dees the following 60.
figure contain?

{A) 11

(B) 10

€ 6

(D) 12

. ¢ » . 610

In a certain code language, ‘479’ means

fruit is sweet’; ‘248’ means ‘very sweet

voice’ and ‘637’ means ‘eat fruit daily’.

Which digit stands for s’ in that coded
language? :

@ 7
® 9

€ 4

(D) Cannot be determined

Choose the set of numbers from the 62.

four alternatives which is similar to the
given set :

(6, 13, 22)

- (A) (6, 13, 27)

13-PARSK/2-A

(B) (10, 16, 28)

©) (11, 18, 27)

(D) (13, 19, 27)
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et faftre 52 v #, 479 @t o fruit is
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a 637’ H 3AY ‘eat fruit daily’ 8, @ @
%2 wm & frw 3 W1 31 s’ R7

Ay 7

B) 9.

€ 4

(D) T & T s e

R fawedt # A ot % 39 wg=g B g
5 3 7 g & Sw & (wE) B

(6, 13, 22)
) (6, 13, 27)
(B) (10, 16, 28)
© (11, 18, 27)

(D) (13, 19, 27)
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63.

64.

Choose a word from the given
alternatives that belongs to the
following group of three related words :

Jute, Cotton, Wool

{A) Terylene

(B) Silk

(C) Rayon

(D) Nylon

Choose a number from the given
alternatives that belongs to the

following group of three related
numbers :

25, 37, 49

(A) 61

(B) 56

(C) 60

(D) 66

13-PARSK/2-A
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65. 12% of 25 students are good in
" Mathematics. How many 'are not good
in it? i

@) 18
(B) 47
) 22

(D) 24

66. The two consecutive integers, between

whichg- lies, are

(A) 5 and 6
(B) O and 1
(C) 7 and 8

(D) 6 and 7

67. What number should come in place
of 2’ mark?
25%x43+5=7?
(A) 215
(B) 220

(C) 205

(D) 251

13-PARSK/2-A
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67.

_65 251%@&&1‘113% 12%ﬁmﬁnﬁmﬁm

g, a\ﬁﬁ%ﬁmﬁfmﬁeﬁé'—rﬁé?
A) 18

(B) 47

(©) 22

(D) 24

o @ warma ol wemedt F e A

(A) 57T 6
(B) 0@l 1
(C) 778

(D) 6aw 7

ﬁa‘?’%mvﬁtwmmaﬁq?

25x43+5=?
‘@) 215
(B) 220
(©) 205

(D) 251

5
2 3 27
7
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68.

69.

70.

Manish ranked 16th from the top and
29th from the bottom among those who
passed the examination. Six students
did not participate in the examination
and five failed. How many students
were there in the class?

@) 40
(B) 55

(C) 50

(D) 49

A’s income is 50% more than B’s. How
much percent is B’s income less
than A’s?

(A) 33%
(B) 33%%
(€ 33-:1,;%

(D) 331%

Which number is on the face opposite

B) 2
< 3

(D) 4

13-PARSK/2-A
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SECTION—C | Wr—C
SCIENCE AND SIMPLE ARITHMETIC

o @ wE e

71. Select the wrong statement.

(A) When water is converted into ice
at 0 °C, its volume decreases

{B) Glycerol (glycerine) is an alcohol
(C) Glass is not a true solid

(D) Photosynthesis is a ‘chemical

reaction

72. Amoeba is a
{A) unicellular pl;a.nt
(B) unicellular animal
(C) small insect

(D) type of small fish

73. Which of the following is a conventional
source of energy?

{A) Sun
(B) Wind
(C) Water

(D) Coal

13-PARSK/2-A 35
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72. flar @
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74. Select the amphibian among the .14 ﬁﬂﬁ@maﬁgﬁm
following. R Sk :
' @) @
(A) Snake ‘
(B) Fw
(B) Dog
(C) Te®
(C) Frog
(D) ¥ge

(D) Earthworm

. . 75, @R % GreT gl }
75. Baking soda is

(A) wifeTm FAES

(A) sodium chloride

(B) sodium hydroxide (B) wifeam TrRgiEe

Q) s\odium carbonate (€) e it

(D) sodium bicarbonate : (D) wiiEzm AHIE
76. Brass is an alloy of 76. e f= = ﬁm%

(A) copper and aluminium (A) HFRF qqﬁrﬁm

(B) alumin;um and zinc (B) Q‘@fﬁﬁ'ﬂ'ﬂ g 5=

(C) copper and zinc (C) FRaf5®

(D) copper and tin : (D) HRF A

13-PARSK/2-A 36
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77. -Night. blindness occuss due to the

deficiency of which of the following?

77. T frer A ol F B ad R

A) faata B,
(A) Vitamin By,
(B) fafimE
(B) Vitamin E
(C} Vitamin A © A
(D) Vitamin C (D) ¢
78. Which of the following is not a part of 78. = # @ ﬁ:r-mgw 1 TH W &7
flower? ‘ .
(A) TAge
(A) Corolla
‘ (B) WRRAYS
(B) Calyx ‘ -
_ (C) 99
(C) Petiole
(D) Androecium (B} T
79. Which of the following is the | ﬁ:’ R B I B e s
non-crystalline form of carbon? &
(A) Diamond (A) @
(B) Graphite (B) I®rE
(C} Coke (C) #*
(D) Fullerene (D) Fal=
80. Which is not a star among the 80. ﬁnﬁﬁﬁa-m@amaﬁ%?
follpwing? .
(A) Sun ) !ﬁf
(B) Sirius (B) T
(C) Polestar (€ I
(D) Venus (D) TH

13-PARSK/2-A
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81.

82.

- (©)

83.

84.

If the numerator of a fraction ‘is
increased by 12% and its denominator
is reduced by 2%, then the fraction

becomes g The original fraction is

o 2
® >
© 2
o

The number of terms, which are equally
divisible by 3 and 4 up to 200, is

A) 18
B) 17
16
(D) 15

Vulgar fraction form of 10-036 is

(A) 1053

225

11
(B) 1050—0

(©) 105%;6
(D) 10339%

The value of

( 0-125+0-027 )
0-5x0-5+0-09-0-15

is

(A) 008
(B) 02
() o8
D) 1

13-PARSK/2-A
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@ 2
® 2
© 2
D) g

200 % 3 & 4 & T ¥4 & fsy wst it
ic

(A) 18
B) 17
) 16

(D) 15

10- 036 1 UTawor e &9 2

9
() 1053

11
(B) 1035'5

(©) 102

250

6
(D) 10?7.5

( 0-125+0-027
0-5x0:-5+0-09-0-15

)wm%

() 008
(B) 02
(C) 08

(D) 1
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85. In Roman system of numbers, M 85 iR P g d M e ware
represents '
(A) 500
{A) 500
(B} 1000
(B) 1000
(C} 100
(C) 100
D) 50
(D) 50 (0

86. The difference of the place values of 86. 278564083 ¥ 3 8 % m:ﬁ A

both of the 8’s in 278564083 is ? ‘
A) 4 A) 4
(B) 799912 (B) 799912
(C) 7999920 (C) 7999920
(D) 799920 ‘ _ (D) 799920
87. In the magic square 87. q@aﬁ
18 | 11 | 16 18 | 11 | 16
13| A C 1304l ¢
B |19 ] 12 B |19 ] 12

the respective values of A, B, C are H4,B, CFTE, :

(A) 14, 15, 17 - (A) 14, 15, 17
(B) 17, 14, 15 ; (B) 17, 14, 15
(C) 17, 15, 14 (©) 17,15, 14
(D) 15, 14, 17 | (D) 15, 14, 17
13-PARSK/2-A 39 [ P.T.O.
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88.

89.

20.

The least prime number is

A) 1

B) 2

(C) 3

Dy 5

Arrange the prime factors of 1729 in

ascending order. The difference between
two consecutive prime factors is

a) 6

B) 5

© 3

(D) 2

15— (-3} ~ 7~ 3} + 3[5+ (-3) x (-6)] is
equal to ;

23
o =
15
® 2

() 15

363

(D) 23

13-PARSK/2-A
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@ 1
(B) 2
© 3

(D) 5
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(A) 6

B) 5

) 3

(D) 2
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2
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B) >3

(€)

363
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91. The smallest fraction from the fractigns 91. Pmfalaa e _
6 13 15 19 S 6 13 15 19 5
11’ 18° 22" 36" 6 11 18’ 22’ 36" 6
is ‘ # q ged B e 2
19 ’
A) =2 19
(A) 36 (A) 36
5 5
® B 2
6 -
€ — o 2
11 , ©
13 i 13
®) T8 - D) 15
92. The smallest rational number is 92. Pwaw qfaw den
0
@ 7 A <
B) 1 (B) 1
) -1 © -1
(D) Not determinable (D) F@ T8 Y 51 TRl @
93. If i——% is expressed as a decimal, 93. afR 3_1 3 e w9 § == R W,
4 2
it will represent a At 7z Frefd = 2
(A) terminating decimal (A) Wi SqE A
(B) non-terminating repeating decimal
(B) FEEE U TR
(C) non-terminating non-repeating
decimal (C) rawrh g TR H
(D) None of the above (D) 30 & | =5 T
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94. The value of (771 - 8711 - (371 _4-1)-1
is

(A) 68
(B) 44
(C) 56

D) 12

95. The least number, which when
multiplied to 5400 gives a perfect cube,
is

A) 3
(B) 4
€ 5

D) 7

96. (10000)2 +(10000)3 is equal to
A) 10

B) 1

1
(&) o

(D) 10*

13-PARSK/2-A

42

94, (771-8 )l @3 l_g Y)Yy lamamg

95.

96.

(A)

(B)

&

(D)

68

44

56

12

GET IT ON
Google Play

a%:mndw,ﬁaﬂsafooaﬁgmaa@m
TR T 9 U §Ed I el R, #

(A)

(B)

(€)

(D)

(10000)2 + (10000)7 =ewr 3

(A)
(B)

©

(D)

3

4

5

7

10

1
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';‘ 97. In3+2% =273 + 644, thd value of xis 97. 3+2% =278 1 643 § a2
W 2 (a) 2
®) 3 B 3
© 1 © 1
1
| D) 2 (D) .21.
98. The value of (0-00243)% s 98. (0-00243)% =1 7y 2
(4) 009 @) 009
(B) 09 B 09
(© o003 (€) 003
D) 03 D) 03

99. The sum of 1+ 3+ S+...+119 ig 99. 1+43+5+... +119 %7 7

f (4) 3630 (A) 3630

] (B) 3540 (B) 3540

, {C) 3660 (€) 3660

" (D) 3600 (D) 3600

f 100. 7507 - 7492 is equal to 100. 7502 - 7492 sy &'

| (A) 1499 (A) 1499

| (B) 1500 (B) 1500

(C) 1501 (©) 1501

’ (D) None of the above (D) 3q§?5 7 @ B 7

v * & &
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INSTRUCTIONS REGARDING METHOD OF ANSWERING QUESTIONS

U9t & IW A grasedt Py

(Please use Black Ballpoint Pen)

. Method of Marking Answers :

To answer a question, please darken
only one circle out of the given four, in
the OMR Answer-Sheet against that
question.

Valuation Procedure :

There are four alternative answers to a
question, only one of them is correct.
One mark will be awarded for each
correct answer. If more than one circle
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer, hence, no
mark shall be awarded.

Cancellation or Change in Answer :
It will not be possible to change. the
marked circle with Black Ballpoint Pen.
Therefore, correct answer should be
carefully chosen before marking it on the
OMR Answer-Sheet.

Handing over of Answer-Sheet to

Invigilator :

(i) Please ensure that all entries in the
Answer-Sheet are filled up properly,
i.e.,, Name, Roll No., Signature,
Question Booklet No., etc., before
handing over to the Invigilator.

(i) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

Care in Handling the Answer-Sheet :

While using Answer-Sheet, adequate
care should be taken. Do not tear or
spoil the Answer-Sheet by folding or
wrinkling. The impression of the circle
made by Black Ballpoint Pen should not
come behind the Answer-Sheet.

(FUaT T ATA-TTZ< A9 H1 TN )

IW 37 &7 alHT :

IW A F fAU Mo wWo Re IW-wF #
Tt g & gme R e aR e § @
%I TH A H qU HIe Hil

qeATeRT agia

T T F IR Jfcus IW &, I ¥ Fad
T IW GE ¥ T B HE IW Afhd w4
T 31 I A I} T ¥ R N F
ey 9 ¥, @ T " sem e wdamff W

I 1 T I e A R 3R 38 A o

@ fw s

IW & e &ET 91 98T

W dee W R wR % fm w

aAfA-uige W A W T NS F FreE R swemn

e TE BT 3T 3o Wo Ro IW-UA |

IR OB MM WA F [ FR IW A T

HEgHgES H |

IW-9F S & Gy :

() dgH BN IN-7F @ F IES FEn
Rl = & 7 sw-w 9 ot il
NH—TW, A T, TEOE, -
gf &1 wae o fulfa T =
Jia-3iw W M §)
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